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FUNDAMENTALS OF Al

fruifa ey . 3 w2 (FAftream 37 - 60
Time allowed : 3 Hours| [Maximum Marks : 60
e (i) VHA-FHATGEIY HuaHE

Note : There are THREE sections in the paper A, B and C.

(i) QT CH G GG F G 10 97T F I AT | G4 YT O 3 T8 vd
&t 10 9777 TEGAE TFT S T F 8 |

Answer all the 10 parts of the question Ne. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(i) QT @ F 8 T § @ 587 6 Y71 & I AT | ¥4 ¥ 3 3F FT 8 G
FTHT 5 3 / 50 Y=l H 3 Ao |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QFT R F 6 Tv7 7 @ f21 4 Y91 & I P | I9F 997 8 3% 1 8 ¢4
g7e7 15 T / 150 ¥1egl 4 37 Gfore |
Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) TRI% GFT & G I ) FHGR UF GTY EF T |
Solve all the questions of a section consecutively together.

(vi) ST SIS @ 31 # # IRfa 7 s7sh srgare & a8 |

Only English version is valid in case of difference in both the languages.

W - T
Section - A
1. () snffefmesRfaassmsaag 7
(a) U gRm (b) e da
(c) i Heprefi (d) 390 4 E HIE TE
The “Father of Artificial Intelligence” is
(a) Alan Turing (b) Charles Babbage

sapg (c) JohnMcCarthy (d) None of the above
E (1 of 4) P.T.0.
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(i) EmEEar snféfefime hefasa d e @t ym smmd@a & 7

(a) 9TSYA (b) Tl
(c) TUS AR gt (d) Hwad
Which of the following is the common language for Artificial Intelligence ?
(a) Python (b) Java
(¢c) Lisp (d) PHP
(iii) TS H fepaa wiifores g g & 7
(a) = (b) U=
(c) FIYC H FUL W (d) I9gm H FE
The total number of logical symbols in Al are .
(a) three (b) five
(c) based on input (d) notused
(iv) ﬁnﬁﬁm/sﬂa%ﬁﬁu%ﬁmmﬁjm@ﬁmmﬁm% ?
(a) DFs/BFs &€ ueifiam (b) it a« uenfen
(c) Tudiu« vemftam (@) fom/few wefem

General Algorithm applied on game tree for making decision of win/lose is

(a) DFs/BFs search algorithm (b) Heuristic search algorithm

(¢) Greedy search algorithm (d) MIN/MAX algorithm
(v) A* uenfs fea o snarf@ 2 7 '

(a) BFs (b) DFs

(c) W &L dd (d) fa=r Femshm

A* algorithm is based on

(a) BFs (b) DFs

(c) Best first search (d) Hill climbing

(vi) @ @ @i 2an- sfuwan @i & S0 & Afhd 37 TrEns F g d 2
sifem favfa 1 wanfaa 7df s awdi 2 7
(a) DFs (b) BFs
(c) —wEH! dfier T (d) Iuren d & 1 TE

Which search is equal to mini-max search but eliminates the branches that can’t
influence the final decision ?

(a) DFs (b) BFs

(¢) Alpha Beta Algo (d) None of these
(vii) AT T H 1 Iufed g 2 ?

(a) Higdg A% AT (b) fereem

(c) dfdas (d) wgfifess vedmew

What are present in the planning graph ?

(a) Sequence of levels (b) Literals

(c) Variables (d) Heuristic estimates
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(viii) Fr=ferfiga d @ & @1 sam i deft T 2 7

(a) wrEE AT (b) @Fag AfHm
(c) Trorem frgesm (d) WIEE AT
Which of the following is not the style of inference ?
(a) Forward chaining (b) Backward chaining
(c)_ Resolution Refutation (d) Modus Ponen ‘
(ix) TUSZ & @163 &1 9TH H & 10 4 & 71 &1 394 fepan smar 2 7
(a) §d (b) @M
() fgma (d) (a) 3 (b)
Which action sequences are used to achieve the agent’s goal ?
(a) Search (b) Plan
(c) R.etrive (d) Both(a) & (b)
(x) T 3TEH fopan weara vt & 7
(a) 1 (b)y 2
() 3 (d 4
How many proposition symbols are there in AI'?
(@ 1 o) 2
) 3 d 4
Yo — ot
Section - B
Fim T TR ?

What is Turing test ?

Tsie 1 # 7 FHETET |
What are Agents ? Explain it.

wifes ad a2 7

What is Heuristic Search ?

A* TeTITTem SHETs |
Explain A* Algorithms.

Grefen Qe m &1 9 werifem & am fofan |

Write the name of three Algorithm finding optimal path.

HE FATEL et bl THHST |

Explain first order logic.

7341

(1x10)

3)

(3)

3

3)

(3)

3)

P.T.O.



CS50032 (4 of )

8.

10.

11.

13.

14.

15.

EIH ! FHIATET |

Explain Domains.

dhas g9 i FEIET |

Explain Backward Search.
e —
Section — C

U A F g 30 Ui uftien i smen |

Explain the overview and historical perspective of Al

feet Femgnfam wgfifecs @ vemftam & Igre afed GRese |

7341

3)

3)

(8)

Explain Hill Climbing Heuristic Search Algorithm with the help of suitable example. (8)

SAfew weifram & fagra &1 fawan 3 wwense |

Explain the concept of Genetic Algorithm in detail.

fufr-fag werfrym 1 foamr & ww3ms |
Explain Mini-max algorithm briefly.

AR 1 deh | gggar 3 quiar i sme |

Explain soundness & completeness in logic infrinces.

foet <t wmeE
Explain following :
(a) oHE& 138
Branch & Bound
(b) L & T

Constraint & Propagation

(8)

(8)

8)

(4+4)



